June 2010 
Explain why classical liberalism placed so much emphasis on individualism 
Classical liberalism put such emphasis on individualism because it goes hand in hand with their fundamental core value, freedom. They believe that people should be free to pursue their self-interest without control or restraint by society. This individualism also created a competitive environment which coincided with classical liberal views on laissez faire economics. They believe that with competition demand and supply should be left to set the prices in an economy. Classical Liberals see society as made up of individuals rather than a community.  John Stuart Mill was a driving force behind individualism in Classical Liberalism, he said an individual was the best judge of their own interest and no superior being had the right to tell them what’s in their best interest. Spencer also supported individualism however other key liberal thinkers such as T.H.Green was in favour of the organic society where we were interdependent of each other rather than individualism. 
Consider the view that the Labour Party owes more to revisionist Socialism than it does to Marxism
Marxism headed by Karl Marx, they wanted to abolish capitalism through revolutionary means. They wanted a class-less society in which there is common ownership rather than private property and total social equality to have a substantial equality of outcome. This was described by many as utopian. Whereas Revisionist Socialism wants to merely reform capitalism rather than abolish it, through evolutionary means. Social Democrats are revisionist socialists. Revisionist Socialism seeks social justice to reduce economic and social inequalities through the state rather than common ownership. The Labour Party has never gone down the route of Marxism because it is simply too radical and not feasible in the eyes of many. They preferred democratic socialism, but also in order to keep populist and keep ground on their main opposition of Conservatives, they simply could not risk being too radical. The social democracy shown in the Labour Party with the recent Blair government shows that they believe in evolution and have placed emphasis fixing economic and social inequalities through the state. This was also evident in Attles government who passed the welfare state. British socialists in the 19th and early 20th centuries were influenced far more by revisionism than Marxism. Therefore the Labour Party owes more to revisionist Socialism.

Explain why many Conservatives hold the view that politics is of limited relevance to human affairs. 
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Explain the term libertarianism 
Libertarianism is a term describing philosophies which emphasise freedom, individual liberty, and respect of property rights. Libertarians prefer a society with small or no government power. This is similar to the views of classical liberalism. 
How do Socialists view human nature?
Socialists believe that we are all born equal but our environment shapes us. They believe that human nature is flexible and we are capable of good, just as we are capable of bad. What traits are expressed more is down to our social circumstances than our inherit tendencies from birth, as Conservatives think . As Karl Marx put it: “the human essence is no abstraction inherent in each single individual. In its reality it is the ensemble of social relations.” 
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Explain how liberals perceive equality 
Liberals believe that humans are naturally unequal. Freedom is a core value of Liberalism and so therefore they believe that people should be free to succeed or fail. Classical Liberals wanted minimal state intervention and saw freedom as being higher than equality. However they soon realised that some people were disadvantaged due to things beyond their control like a disability, or location and therefore liberals decided that in order for them to capitalise on the freedoms offered they must first be in a position to do so. This is when equality of opportunity came into play, liberals wanted to make people have the same opportunities to achieve through education and health. This was shown in the education reforms of Gladstone and the Beveridge report. 
Explain why Socialists reject individualism in favour of collectivism. 
Socialists reject individualism in favour of collectivism because they believe that people prefer to achieve goals collectively rather than independently. Also action taken by people in organised groups is likely to be more effective than the sum of many individual actions. The old clause 4 placed emphasis on common ownership which meant nationalising major industries in order to reduce prices and help society as a whole. Wilson nationalised many things such as the railways , gas, water, and electricity boards. More recently Socialists like blair have accepted some capitalism say collectivism alongside individualism. This was because after the Thatcherite years everyone was in favour of the free market and individualism was now seen as holding back economic progress, stifling individual enterprise and suppressing individual instincts. Therefore there is not much emphasis placed on collectivism over individualism these days. 
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Explain why liberalism is pluralist 

Why might socialism be described as ‘utopian’?
Because of Marx beliefs 
